XAH VA
TR 1 HANSAVFLEX

| _§:3

#0O1 KR RFIRLL &1 sw
FREX 1 FOIFRNEREL §

¥O2 KIS IRLL, B AT

BHER 2 24°R#
gges TRBEER

£1lrR B
L2y -3 ISO 8434-1
13 .| [=5iET
BEEAH Y ER M ER)
R$ THN
®’ER
BXZRE, EA, EHXARAATHN IHEEENHBEZSHERREENERES,
# &

MR < IHEEHDBE

XAH NW 06 L 04 VA L PN 315 8 6 M 14 x1.5 M12x1.5 26,5 12 17
XAH NW 08 L 04 VA L PN 315 10 6 M16x1.5 M12x1.5 27,0 12 19
XAH NW 08 L 06 VA L PN 315 10 8 M16x1.5 M 14 x1.5 27,5 14 19
XAH NW 10 L 04 VA L PN 315 12 6 M18x1.5 M12x1.5 28,0 14 22
XAH NW 10 L 06 VA L PN 315 12 8 M18x1.5 M14x1.5 29,0 14 22
XAH NW 10 L 08 VA L PN 315 12 10 M18x1.5 M16x 1.5 30,0 17 22
XAH NW 13 L 04 VA L PN 315 15 6 M22x1.5 M12x1.5 29,0 17 27
XAH NW 13 L 06 VA L PN 315 15 8 M22x1.5 M 14 x1.5 29,0 17 27
XAH NW 13 L 08 VA L PN 315 15 10 M22x1.5 M16x 1.5 30,0 17 27
XAHNW 13 L 10 VA L PN 315 15 12 M22x1.5 M18x 1.5 31,0 19 27
XAH NW 16 L 04 VA L PN 315 18 6 M26x1.5 M12x1.5 30,0 19 32
XAH NW 16 L 06 VA L PN 315 18 8 M26x1.5 M14x1.5 31,0 19 32
XAH NW 16 L 08 VA L PN 315 18 10 M26x1.5 M16x 1.5 32,0 19 32
XAH NW 16 L 10 VA L PN 315 18 12 M26x1.5 M18x 1.5 33,0 19 32
XAHNW 16 L 13 VA L PN 315 18 15 M26x1.5 M22x1.5 32,5 24 32
XAH NW 20 L 04 VA L PN 160 22 6 M30x2 M12x1.5 32,0 24 36
XAH NW 20 L 06 VA L PN 160 22 8 M30x2 M 14 x1.5 33,0 24 36
XAH NW 20 L 08 VA L PN 160 22 10 M30x2 M16x 1.5 35,0 24 36
XAH NW 20 L 10 VA L PN 160 22 12 M30x2 M18x1.5 35,0 24 36
XAH NW 20 L 13 VA L PN 160 22 15 M30x2 M22x1.5 36,0 24 36
XAH NW 20 L 16 VA L PN 160 22 18 M30x2 M26x1.5 36,5 27 36
XAH NW 25 L 04 VA L PN 160 28 6 M 36 x 2 M12x1.5 34,0 30 41
XAH NW 25 L 06 VA L PN 160 28 8 M 36 x 2 M 14 x1.5 34,0 30 41
XAH NW 25 L 08 VA L PN 160 28 10 M 36 x 2 M16x 1.5 35,0 30 41
XAHNW 25 L 10 VA L PN 160 28 12 M 36 x 2 M18x 1.5 36,0 30 41
XAH NW 25 L 13 VA L PN 160 28 15 M36x2 M22x1.5 37,0 30 41
XAH NW 25 L 16 VA L PN 160 28 18 M 36 x 2 M26x1.5 37,5 30 41
XAH NW 25 L 20 VA L PN 160 28 22 M 36 x 2 M30x2 39,6 32 41
XAH NW 32 L 04 VA L PN 160 35 6 M45x 2 M12x1.5 40,0 36 50
XAH NW 32 L 06 VA L PN 160 35 8 M45x 2 M 14 x1.5 40,0 36 50
XAH NW 32 L 08 VA L PN 160 35 10 M45x 2 M16x 1.5 41,0 36 50
XAH NW 32 L 10 VA L PN 160 35 12 M45x 2 M18x 1.5 42,0 36 50
XAHNW 32 L 13 VA L PN 160 35 15 M45x 2 M22x1.5 43,0 36 50
XAH NW 32 L 16 VA L PN 160 35 18 M45x2 M26x1.5 42,0 36 50
XAH NW 32 L 20 VA L PN 160 35 22 M45x2 M30x2 45,5 36 50
XAH NW 32 L 25 VA L PN 160 35 28 M45x 2 M 36 x 2 46,5 41 50
XAH NW 40 L 08 VA L PN 160 42 10 M52 x2 M16x 1.5 42,0 46 60
XAH NW 40 L 10 VA L PN 160 42 12 M52 x 2 M18x 1.5 43,0 46 60
XAHNW 40 L 13 VA L PN 160 42 15 M52 x2 M22x1.5 45,0 46 60
XAHNW 40 L 16 VA L PN 160 42 18 M52 x 2 M26x 1.5 44,5 46 60
XAH NW 40 L 20 VA L PN 160 42 22 M52 x2 M30x2 46,0 46 60
XAH NW 40 L 25 VA L PN 160 42 28 M52 x2 M 36 x 2 47,5 46 60
XAH NW 40 L 32 VA L PN 160 42 35 M52 x2 M 45 x 2 47,5 46 60
XAH NW 04 S 03 VA S PN 630 8 6 M16x 1.5 M 14 x1.5 30,0 14 19

—

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
10.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



XAH VA
TR 1 HANSAVFLEX

3 &

SR  IHEEHDBE

XAH NW 06 S 03 VA S PN 630 10 6 M18x1.5 M14x1.5 32,0 14 22
XAH NW 06 S 04 VA S PN 630 10 8 M18x1.5 M16x 1.5 34,0 17 22
XAH NW 08 S 03 VA S PN 630 12 6 M20x1.5 M 14 x1.5 32,0 14 24
XAH NW 08 S 04 VA S PN 630 12 8 M20x1.5 M16x1.5 34,0 17 24
XAH NW 08 S 06 VA S PN 630 12 10 M20x1.5 M18x1.5 33,5 19 24
XAH NW 10 S 03 VA S PN 630 14 6 M22x1.5 M14x1.5 35,0 17 27
XAH NW 10 S 04 VA S PN 630 14 8 M22x1.5 M16x 1.5 37,0 17 27
XAH NW 10 S 06 VA S PN 630 14 10 M22x1.5 M18x 1.5 36,5 19 27
XAH NW 10 S 08 VA S PN 630 14 12 M22x1.5 M20x1.5 38,5 22 27
XAH NW 13 § 03 VA S PN 400 16 6 M24x1.5 M 14 x1.5 35,0 17 30
XAH NW 13 § 04 VA S PN 400 16 8 M24x15 M16x1.5 37,0 17 30
XAH NW 13 § 06 VA S PN 400 16 10 M24x1.5 M18x1.5 36,5 19 30
XAH NW 13 S 08 VA S PN 400 16 12 M24x1.5 M20x1.5 38,5 22 30
XAH NW 13 § 10 VA S PN 400 16 14 M24x1.5 M22x1.5 40,0 24 30
XAH NW 16 S 03 VA S PN 400 20 6 M30x2 M14x1.5 42,0 22 36
XAH NW 16 S 04 VA S PN 400 20 8 M30x2 M16x 1.5 42,0 22 36
XAH NW 16 S 06 VA S PN 400 20 10 M30x2 M18x 1.5 42,5 22 36
XAH NW 16 S 08 VA S PN 400 20 12 M30x2 M20x1.5 43,5 22 36
XAH NW 16 S 10 VA S PN 400 20 14 M30x2 M22x1.5 45,0 24 36
XAH NW 16 S 13 VA S PN 400 20 16 M30x2 M24x1.5 44,5 27 36
XAH NW 20 S 03 VA S PN 400 25 6 M 36 x 2 M14x1.5 44,0 27 46
XAH NW 20 S 04 VA S PN 400 25 8 M 36 x 2 M16x 1.5 44,0 27 46
XAH NW 20 S 06 VA S PN 400 25 10 M 36 x 2 M18x 1.5 43,5 27 46
XAH NW 20 S 08 VA S PN 400 25 12 M 36 x 2 M20x1.5 45,5 27 46
XAH NW 20 § 10 VA S PN 400 25 14 M 36 x 2 M22x1.5 47,0 27 46
XAH NW 20 § 13 VA S PN 400 25 16 M36x2 M24x15 47,5 27 46
XAH NW 20 § 16 VA S PN 400 25 20 M 36 x 2 M30x2 48,5 32 46
XAH NW 25 § 03 VA S PN 400 30 6 M42x2 M14x1.5 52,0 32 50
XAH NW 25 § 04 VA S PN 400 30 8 M42x2 M16x 1.5 52,0 32 50
XAH NW 25 § 06 VA S PN 400 30 10 M42x2 M18x 1.5 51,5 32 50
XAH NW 25 S 08 VA S PN 400 30 12 M42x 2 M20x1.5 51,5 32 50
XAH NW 25 § 10 VA S PN 400 30 14 M42x 2 M22x1.5 50,0 32 50
XAH NW 25 § 13 VA S PN 400 30 16 M42x 2 M24x1.5 52,5 32 50
XAH NW 25 § 16 VA S PN 400 30 20 M42x2 M30x2 49,5 32 50
XAH NW 25 § 20 VA S PN 400 30 25 M42x2 M 36 x 2 57,0 41 50
XAH NW 32 S 03 VA S PN 315 38 6 M52 x 2 M14x1.5 55,0 41 60
XAH NW 32 S 04 VA S PN 315 38 8 M52 x2 M16x 1.5 55,0 41 60
XAH NW 32 S 06 VA S PN 315 38 10 M52 x2 M18x 1.5 54,5 41 60
XAH NW 32 S 08 VA S PN 315 38 12 M52 x 2 M20x1.5 54,5 41 60
XAH NW 32 § 10 VA S PN 315 38 14 M52 x 2 M22x1.5 57,0 41 60
XAH NW 32 § 13 VA S PN 315 38 16 M52 x2 M24x15 55,5 41 60
XAH NW 32 § 16 VA S PN 315 38 20 M52 x2 M30x2 56,5 41 60
XAH NW 32 § 20 VA S PN 315 38 25 M52 x2 M 36 x 2 60,0 41 60
XAH NW 32 § 25 VA S PN 315 38 30 M52 x 2 M42 x 2 60,5 46 60

ZHMRILL=FEE =R S=E - PN=HEEH PB=HAIKED - 0d1=ENER - 0d2=EHER

R
XAH FRIBRIERE, SRR
AH VA ZTREREE, THERSNYITNEE

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
10.08.2025 HANSA-FLEX AG www.hansa-flex.com 2



